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PUBLIC ADMINISTRATION

(Public Sector Management
and Industrial Relation)

Time : Three Hours] [Maximum Marks : 100
[Minimum Pass Marks : 36
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Note : Answer all questions. All questions carry equal
marks.
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Explain the nature of Public services and discuss
the regulations regarding public services.
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Discuss the problems of ‘Nationalism’.
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Clarifying the patterns of ‘Departmental
Undertaking’ as a form of organisation explain
the difference between Departmental Undertaking
and Public Corporation.
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Write a short article on ‘Parliamentary
Accountability’.
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What is ‘Public Enterprises’ ? Discuss its merits
and demerits.
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How is the financing of Public Corporations
done ? Explain.

g1 / Unit-IV
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How can the increasing problems of
industrialisation be resolved in present scenario ?
Explain.
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Write a note on ‘Social Structure of Industry’.

Th1e / Unit-V
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Explain critically the ‘Labour-Welfare related
Schemes’.
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Write an essay on ‘Social Security’ in U. S. A.
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